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Figure 6.1 — Nondimensional Added Mass Matrix Element A(1,1) vs. kR
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Figure 6.2 — Nondimensional Added Mass Matrix Element A(2,2) vs. kR
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Figure 6.3 — Nondimensional Added Mass Matrix Element A(3,3) vs. kR
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Figure 6.4 — Nondimensional Added Mass Matrix Element A(4,4) vs. kR
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Figure 6.5 — Nondimensional Added Mass Matrix Element A(5,5) vs. kR
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Figure 6.6 — Nondimensional Damping Matrix Element C(1,1) vs. kR
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Figure 6.7 — Nondimensional Damping Matrix Element C(2,2) vs. kR
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Figure 6.8 — Nondimensional Damping Matrix Element C(3,3) vs. kR
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Figure 6.9 — Nondimensional Damping Matrix Element C(4,4) vs. kR
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Figure 6.10 — Nondimensional Damping Matrix Element C(5,5) vs. kR
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Figure 6.11 — Nondimensional Hydrodynamic Forces vskR(°
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Figure 6.12 — Nondimensional Hydrodynamic Forces vspkR15’
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Figure 6.13 — Nondimensional Hydrodynamic Force vs.(kR3(
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Figure 6.15 — RAO’s vs. k8 = 15
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Figure 6.16 — RAO’s vs. kg = 3C°
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Figure 6.17 — Transmission Coefficient vs. kR
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